
 

TheoyotProbability
Call QIE PIE IF for a fixed F then

Q satisfies the axiom of probability

F Pfeiff

By conditioning on F in an effectively

redefining the sample space S to

be just F
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ConditionalIndependence

Ei Ez are conditionally independent with respect to

F if PIE leaf P E IF

this is eguiuleutto PIE.ee F PlEfFPlEalFlLsQlEiEd QlEi1QlEa



Ex3i33 selfKot

et E F 6 be independent events

show that PIE FGC PIE

ptEIF64 PIEE.gg PlElpfIpyg4

PlEEx3.35lselft
An urn contains 4 nd 5 white 6 blue and

7 green balls Randomly choose 4 balls without orphan
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EX3.27 fselftes.tl
An urn contains IR and 1B ball

Question At stage n show that the probability

that urn contains i red balls is t.fr i l nt

htt

stage 0 IR 1B
is1.5

Stage 19 212,113 or IR 2B
Yg Yg 43

stage 2 312,13212,2113 121223 112,313

I t t t
3 6 6 3

312 1B 43

212,213 43

112,313 43

Use Mathematical Induction

Showed it was true for me 0 1,2

Assume the result holds after stage n

Assuming show the result is true for stage
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Compute Pfi
red balls
stage ntl
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If F y Fa ar mutually exclusin and UF S

PIE PIEFg PIEIF PLEB
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P Elf PCF PCEFjl PCEIF.INT

This idea is often used in conjunction with

Bages'sTheorem


